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No. of Questions: 150 

-w-IT q,'t ms.rr: 150 

Time : Two Hours Full Marks : 450 

,{oliit : 450 

Note: The paper consists of 170 Objective Type Questions and is divided 
into Three Sections (I ,II & III) as under: 

(a) Section· I consists of 130 Objective Type Questions. 

(b) Section - II consists of20 Objective Type Questions on English 
Language Comprehension. 

(c) Section-III consists of 20 Objective Type Questions on Hindi 

Language Comprehension. 

Instntctions : 

f.rW": 

Out of total· 170 questions, you have to attempt 150 questions only. 
There are 130 questions in Section -I. You have to attempt as many 
questions as you can. In Section -II, there are 20 questions for 
English Language Comprehension and in Section -III there are 
20 questions for Hindi Language Comprehension. Attempt as many 
questions as you can either from Section -II (English) or from 
Section -III (Hindi). In all you have to attempt 150 questions. Each 
question carries 3 marks, one mark will be deducted for each 
incorrect answer. Zero mark will be awarded for each unattampted 

question. 

-..r w.r-'Bl f1' fl;it ~ ¥'f 170 wi! f1' it ~ 150 wi! ~ ;j"ij"{ ~ tl 
lSi'JS-I f1' it <l'ifl 130 wi! "'liT 'll 31f'l'liTf .... wi! "'liT ~ V'! 'f>BT il 

lSi'JS-II f1' ~ 'Il1",<i1s;r ~ 20 w.r t a'll lSi'JS-III f1'"fu;;ft 'Il"moim ~ 

3 P.T.O. 
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20 "lIv.l tl ~ <rrm ~ 'IT'I1'it'l <rr~ 'IT'I1'it'l iI; ~ iI;"3m: ~ 
tl ~ "<IW ~ 150 ~ iI; "3m: ~ tl ~ "3m: iI; fum. 3 atq; f.!'lffu! 
tl Jlril4) 7'f1"fff :rrrr <i; Wro: l('i'i 3i<1; CI>TZT ;;11<)>/1 I ~ 3lj*lRd "lIv.l "" 

QI'<Ii'h ~ WTII 
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SECTION - I 
~-I 

01. Which of the following is not a function of Central Board of Second­
ary Education? 

(1) Conducting secondary school examination 

(2) Financing schools set up by Central Government 

(3) Issuing SSC and SSSC certificates 

(4) Conducting Joint Competitive tests 

f.!"1f<'lf<!ld it ~ ~ <IT i\i'j(lq 1!T~ fuPd1 ~ ~ q;r.f 'ItT ~ ? 
(1) 1!T~ f<1<l10~1' 'lit WPd1 'liW!T 

(2) i\i'l;lq \Hilil< &m f<1<l10~ 'lit "~'"Irr.q'i;rrl ~ f<rif >rGR 'lWIT 

(3) ~o~o-m l1!'i ~o~o~o-mo <!» ~'llolq~ f.rfu 'hBI 

(4) ~ ~Rt>il'n WPd1 'liW!T 

02. The e~tablishment of first modern university in India was recom­
mended by: 

(1) Hunter Commission 

(3) Sargeant Committee 

(2) Lord Macaulay 

(4) Wood's Dispatch 

'1m! it 'l!2f'l 3TI~ fcr'!lf<1<l101.! 'lit ~ 'lit <i+1Rt &m 'lit 'T'lt oft : 
(1) ~ ili,n~I'i (2) '0lt ~ 
(3) \11;JlOi! ili<il~1'1 (4) ~ ~ "'l'mlqmOlmlq.,,~ 

03. Who was the first Chainman of the U.O.C ? 

(1) Dr. S.S. Bhatnagar (2) Dr. S Radhakrishnan 

(3) Dr. A.L Mudaliar (4) Dr. D.S. Kothari 

'io;;jjo-mo 'i\; 'l!2f'l -<1q{~'i ~ Ot ? 
(1) Slo~0~0'!j2'i1'1{ 

(3) Slo lI:o lI)?[o ~If<'lq{ 

5 

(2) Slo~o \l>iI~"'Ii. 

(4) Slo ito ~o <ildRl 

P.T.O. 
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04. According to idealism, which of the following is true? 

(1) Child is the falter of man 

(2) Child is a natural Learner 

(3) Teacher is the store house of knowledge 

(4) Children learn by doing 

311<;~fcll<; ~ 3lJ'!R f1""1f<.1f .. <1 if it ~ -mft t ? 
( 1 ) ~ '1:l"'l q;] fi1<rr t 1 

(2) ~ ~I$fct'l> ~ it -m1lR 'lR'IT tl 

(3) ful\l'l> '"" q;] "I""SR tl 

(4) ~ ffii'1T lIT{[ ~ ~I 

05. Which of the following organization has nothing to do with school 
education? 

(1) CBSE (2) NCERT (3) MCI (4) NCTE 

f1""1f<.1f .. <1 if it ~ -rn m>lT ~ fu8J1 ~ full: ~ "f@"'f>«ft t ? 
(1) CBSE (2) NCERT (3) MCI (4) NCTE 

06. Which of the following universities is not a central university ? 

(1) Aligarh Musluim University (2) Banaras Hindu University 

(3) University of Bombay (oj H.S. Gaur University Sagar 

R""If<.1f"<I if it ~ w fu'llf'ml(1~ ili'<tl~ fu'!lfq"lI(1~ "'f@ t ? 
(1) 31<.11'1,. ~«1'l fu'!lfq"lI(1~ (2) ~'1IHI ~ fu'!lfq"lI(1~ 
(3) ~ fu'!lfq"lI(1~ (4) 10!0"ll:B0 ift1: fu'!lfq"lI(1~ W'R 

07. The Sarva Shiksha Abhiyan is a programme launched by the Govern­
ment of India for promoting: 

(1) Primary Education 

(3) Elementary Education 

6 

(2) Literacy among adults 

(4) All the above there 
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",,-ml\lT aTI'f'lR <wllhl1 'IlU! \H'liR &m f'MIOI; ~ t! C1I'l. flI;"I:rr Tf'IT ? 
(1) m>lf4'li ml\lT (2) ~"<IiT m~ t! 
(3) ~RIl>:r'Ii" ml\lT (4) aq(}\h it ~ <iFif i\; ffi1< 

os. Which of the following states is rated as educationally backward? 

(1) Haryana (2) Himachal Pradesh 

(3) Kerala (4) Jharkhand 

f.i "1 R1 f~ d it ~ f'R! "{fO<[ "<liT 7J11RT ;ltr8.f'fi" ~ ~ fl4 .. ~ q 'I i\; ffi1< "<liT Tf'fi t ? 
(1) ~f{~loll (2) ful1iil<.1 ~ (3) ~ (4) ;;I1({5Ios 

09. "The world is full of miseries which may be overcome by overpowering 
one's desires". This was stated by : 
(1) Manu (2) Gautama Buddha 

(3) Mahatma J. Fulley (4) Mahatma Gandhi 

"mm "'IiiI' ~ ~ t ;;j) f<I; '1:J"'! "<liT awlf"1'O 31I'Iiil\lTW ~ 'lfu1f&ffl WoT t" , 
'11! "'Ii2R "'IiOT Tf'IT -t: 
(1) 'f:l (2) -.fur:! ~ 
(3) 11~1«11 ito~ (4) 11~1r111 lJi>i\ 

10. Who is the Union Minister for Human Resource Development? 
(1) Arjun Singh (2) Manmohan Singh 

(3) Kapil Sibal (4) Veerappa Moily 

0I;'lil~ 'f[1q mm:R fCl'liI*l lj;ft q;)-;j t ? 
(1) ~ ftW (2) 11'11i1~'1 ftW (3) ~ PiiO<il<.1 (4) cfRa!r~ 

11. The UNESCO'S target year for achieving the goal of UEE by the devel­
oping countries is : 

(1) 2007 (2) 2012 (3) 2015 (4) 2017 

7 P.T.O. 
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12. Which of the following figures is the nearest to the total estimated 
populaction of India now? 

(\) 600 million (2) 900 million (3) 1200 million (4)1500 million 

<ld41'1 i'j 'IT«! 'lil ¥f "i:J>4Ir-1" "I1<il9'11 ~ 1"1<i\'Ii i : 
(1) 600 r"lr<'l~1 (2) 900 r'lr<'l~1 (3) 1200 r4r<'l~1 (4) 1500 fl1r<'l~1 

13. The total population of the world at present may be estimated to be 
around: 
(\) 4000 million (2) 5000 million (3) 6000 million (4)7000 million 

<ld411 i'j f<l-1l 'lil ¥f "I1<il9'11 WT'fTI 31:J>4IRd m ~ i : 
(1) 4000 fl1r<'l~1 (2) 5000 r'lr<'l~1 (3) 6000 r'lr<'l~1 (4) 7000 r"lR1~1 

14. The current population growth rate (p~r year) in India may be around: 

(\) 1% (2) 2% (3) 3% (4) 4% 

15. The right to education (Bill) was passed by the Government of India 
in the year : 

fu8JI "'liT 3if!;(qif{ (foffi) 'IT«! {1{'li1( &RT fit"B qq i'j 'lIB f'n'117f'lT ? 

(I) 2002 (2) 2005 (3) 2009 (4) 2011 

16. The right to eduction Act came into force on : 

tl) 15"' Aug 2009 (2) 2rul Oct 2009 

(3) I"' April 2010 (4) 26'h Jan 2011 

fu8JI "'liT 3if!;(qif{ 3if~ ~ 1<'1Icl i'j 31T'lT ? 
(I) I531'ffi12009 (2) 2 ~ 2009 

(3) 131'ffiI2010 (4) 26 "I1'H12011 

8 



llP/246/20 

17. Which of the following does Dot characterize 'Socialism' ? 

(1) Competition is key to success 

(2) Society grows with individuals 

(3) Cooperative development benefits all 

(4) All men are inter - dependent 

R"Ifclf@ct it it q;'j;, '\i'1I,"qlt;' <it fCl~qHI '" 6'R '~' q;«ft t ? 
(1) ~RI¥l4f \iCfi('ictl <it ~ tl 
(2) O1If"ffi'IH "'" it w:n;;t fClilif@ mar tl 
(3) ~"ifh \i~iliIRHI fClilil\i "il>T "('11'1 fl:1"('1"ffi tl 

(4) "oft"01lfu; ~ ~ "'1{ 311f~ tl 

18. Which of the following was not an essential component of Gandhian 
concept of Basic Education? 

(1) Basic craft (2) English Language 

(3) Self support (4) cooperative learning 

R"Ifulf@ct it it q;'j;, ~ fu!\lT '" '11~ f<r<m:>mT "il>T lf9'l "'RA> "'!iff t ? 

(1) ~ iliJ1R (2) ~ 'IT'lT 

(3) aw<I \i~<il'1 (4) ~ IDU 

19. According to Plato, Superior education is desirable only for: 
(1) Peasants (2) Soldiers (3) Rulers (4) Workers 

'<iii! '" ~ \i~hl'1 fu!\lT <it <>llq~'1M t ~ '" furt< : 
( 1 ) A 14M,. '" furt< (2) <'1 R <hl '" furt< 
(3) ~II \i <hl '" furt< (4) <tfif<i'i '" furt< 

20. 'Geeta' may best be categorized as a book of : 

(1) Religion (2) Philosophy (3) Counselling (4) Education 

9 P.T.O. 
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'1j\m' 'lit m:t 1IW q,'\ ~ it ~oif<q ~ "B ,;jon~O& fi<;'l! -.;n ~ ~ ? 

(1) "I1'f (2) c;m (3) q(14~f(4) rna.-n 

21. Which of the following in not covered in a category of Bloom's con­
cept of Cognitive domain? 

(1) Creativily (2) Automation 

(3) Argumentation (4) Understanding 

Pl"1f<il f~ d it "B f'riI "'l4 ~ ~'l\ 111 til '" '@1. 'liT ~ Q f'\ ~ q,'\ WJft it 'Itt' Dli1 -.;n 

~~? 

(1) ~"l1Itil"'dl (2) liCIillf<ild (3) "* (4) ~ 

22. Development of rationality as a result of learning is covered under: 
(1) Cognitive domain (2) Affective domain 

(3) Psychomotor domain (4) All the above 

f<lilR • 'liT fq"'l~ ~ ~ QRoll4 q,'\ 1IW ~;;TI *if>m ~ : 
(1) ~'l\l1ltil'" '@1. (2) 1l'll<il '@1. 
(3) 4;jj~lfo?\'" '@1. (4) aQ()", it"B "B.n 

23. Who was the first education Minister in free India? 
(1) M.C. Chhagla (2) Dr. Radhakrishnan 

(3) Maulana Azad (4) Dr. Zakir Hussain 

~ 'lm! ~ 1l'll'! rn~ q;')-;, it ? 
(1) '<'I0mo ,91'1<.11 

(3) 41<.1111 ~ 
(2) -;no U"llqi"'I'l 
(4) -;no~~ 

24. The NCERT was established by the government of India a few year 
before? 

(I) Independence 

(3) Launch of NPE- 1986 

10 

(2) Kothari Commission Report 

(4) Mrs Indira Gandhi's death 



~ q<f 'l:'i 'llUf {H"hi( IDn NCERT 71ft <"IIQ11 71ft'T'i\ oft : 
(1) {CId~dl 

(2) ""all] "h41~11 mTi 
(3) ~ fu~ -;ftfu 1986 if> <'Il'l it't 'R 

(4) ~ Wi l110ft 71ft ~ if> ~ 
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25. The National Talent Search (NTS) examination is conducted yearly 
by: 

(1) CBSE 

(2) Novodaya Vidyalaya Samittee 

(3) University Grants commission 

(4) NCERT 

~ mlr'" W;;r '!U~ QRiqq \i"llf<'ld mal ~ : 
(I) mooito~o{o IDn (2) '1<'i1G~ fq·w\'1~ Wi=lfu IDn 

(3) f«'!lfq'lI\'1~ ~ a:wiM IDn (4) 113omo~oam:oi\o IDn 

26. Humans are like all other animals in : 
(1) Physiological needs (2) Social needs 

(3) Psychological needs (4) Economic needs 

"'1"'l "{loft 3BI 'mat if> 'W!R ~ : 

(1) ~1Il]n:"h ilnq~~"hdlat it 

(3 ) q oil ~ .OR "h 31l<m "h d lat it 

(2) <"Ilqif"l"h 31lq~~"hdlat itl 

(4) 31lf>fq; "llq~'1"hdlat it I 

27. The essential assumption underlying all behaviour oftheoris oflearn­
ing is : 
(1) Everybody can learn everything 

(2) All knowledge covers Throuph senses 

(3) Environment can change a person 
(4) Teachers are the makers of the society 

11 P.T.O. 
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m1lf.t ~ "'1lq~IRi'ji r{l4<Hif ~ 3RfIfo f.1I"lr",r@d i:t ~ "lfll1lI 'fRUTT t : 
(I) ~~~~~W1lI~t 
(2) ~ ~ ~ <IR >IT'<f m t 
(3) q~fq{ol ll;'Ii ~ <it qRqRfd <l>{ ~ t 
(4) 31VlT% ~ <liT f.n:rim t 

28. During ancient period, the ceremony organized at the initiation of a 
child in school was called: 

(I) Sri Ganesha 

(3) Pravesha 

(2) Upanayana 

(4) Brahmacharya 

~ <'f'l':I i:t ll;'Ii ~ ~ r<1illl<?I~ ;;jf.\ i:t flI;-<t;;jf.\ C!Wt {j\4il{ <it %T "Il<lT t: 
(I) ~'10i~1 (2) 3q1~1 (3) Wm (4) 'lle;1",f 

29. Article 46 of Indian constitution is meant for protecting the educa­
tional rights of : 

(I) Minorities (2) Lower castes (3) OBCS (4) Disabled 

'11TIiP:I ~'lR ~ 46 i! 31j~<; i:t rn8:l1 31f'l'liR qi\ \'F8:l1 ~ 31Wl t : 
( I) 3101 (j @I ilW qi\ (2) f.r"l "Ilfu qi\ 

(3) 3F'I fi:I\§$1 "Ilfu qi\ (4) r<1i'jii?li'JY qi\ 

30. The idea of 'para teachers I was first given by : 

(I) Yashpal Committee 1933 

(2) Ramamurti Committee 1990 

(3) Adiseshiah Committee 1978 

(4) Ishwarbhai Patel Committee 1978 

'&{I<.l"" <liT f<rqp: wfl12l'1 r'l><li\> 1ffiT ~Mqlf~ct fif;<:rr 7J'IT : 

(I) ~~Iqli?l WWr 1993 (2) {l4'ifd WWr 1990 

(3) 311f~i1~1 WWr 1978 (4) ~'[{-m ~ WWr 1978 

12 
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31. Which of the following is not a dividing factor in Indian society, ? 

(1) Caste (2) Colour (3) Religion (4) Region 

H'"'1f<.1f&d it m ~ ~ it 3R'T'IlC[ '"' ~ 'Itt ~ ? 

(1) ;;nfu (2) ~-~ (3) "Jlf (4) l\l'! 

32. Which of the following is associable the minorities in India especially 
Muslims? 

(1) Kalelkar Commission 

(3) MandaI Commission 

(2) Mudaliar Commission 

(4) Sachchar Commission 

H'"'1f<.1f&d it ~ m ~ 3k'lfi@lq; ~ ~ ~ ~ ~f«'l4 f1~~I~ ~ f1'4f.-'fd 

~: 
(1) iI><'1q;{ 31T'ifq (2) ~~lf<.1~{ 31T'ifq 

(3) ~-31T'ifq (4) ~-31T'ifq 

33. The eleventl} five year plan will come to an end by 3 pt march of : 

'~IWil' tj"1qoif~ ~ ~ '111 q,'t 31 lJRi ~ 'ITG >IRP<f \itlJT : 
(1) 2011 (2) 2012 (3) 2013 (4) 2014 

34. The concept of 'globalizatior is mainly concerned with: 

(1) Easy travelling abroad (2) Opening private institutions 

(3) Free international trade (4) ·International peace 

''i~o<;<'ll~q;{OI' q,'t f<rim:'lRT "[!§'RI: f1'4f.>tffi~ ~ W'l : 

(1) mB mWPIT5!l (2) H<illfi f\!IR ~ 
(3) 'I'" 3i'i1{~14 C1:WIR (4) 3i'i1{fg1~ 'Ififu 

35. Which of the following is not associated with adult literacy ? 

(1) DPEP (2) NAEP (3) NLM (4) TLC 

13 P.T.O. 
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PI"lfclf&d it it ~ "lIi1ll fu!\lT it (l14f.-mr ~ i : 
(1) mo..uo~o..uo (2) 113oll:o{o..uo (3) 113o~o~o (4) i\o~omo 

36. The 10+2+3 pattern of school and college education was first sug­
gested by: 

(1) Hunter Commission (1882) 

(2) Sadler Commission (1919) 

(3) Radhakrishna Commission(1948) 

(4) Kothari Commission (1966) 

OO'lll 10+2+3 'iI; ~ 'liT '¥f aiR '1MI"! fmT 'liT 31"Im-~ "IT : 

(1) m awi'rT (1882) (2) (l:S<il( awi'rT (1919) 

(3) "u'l1'li"'1~ awi'rT ( 1948) (4) <Nal(l awi'rT (1966) 

37. The Board of High School and Intermediate Education Allahabad, 
was created during: 

(1) 1920s (2) 1930s· (3) 1940s (4) 1950s 

~ '¥f 1l:Ci ~u,,:(f~f,,;q:2 oint, ~<ilI~I'II<; 'liT f.l'lfur §;a:IT "IT 'iI; ~ : 
(1) 1920<iT (2) 1930<iT (3) 1940<iT (4) 1950<iT 

38. Which of the following was given Nohel Prize for his work on theories 
of Learning ? 

(1) Pavlov (2) Thorndike (3) Skinner (4) Lewin 

R"lR1f&d it it f'i;it fWi't 'iI; f";;;:hl 'R q;m 'I>f.t 'iI; ~ ~ ::({(4il( >i<;R 
flf;<n 'T'lT : 
(1) _ (2) "'I'If";,,, (3) ~ (4) WfR 

39. The concept of 'Shaping' was a part of the learning theory proposed 
by: 

(1) Pavlov (2) Thorndike (3) Skinner (4) Lewin 

14 
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'31l'li11:' '1ft mr:'Il1J fm;f.t i\; f~<>lil"l 'liT ll!'I' 'fTIT I!lT ~ QfctQI<;1 f'li"lT : 
(1) _;') (2) 'l1'ffSiji;') (3) ~;') (4) ~;') 

40. The first test of intelligence was developed in : 

(1) U.K (2) USA (3) France (4) Germany 

= ~ i\; 'lU&l"f 'liT f" '1MI f'li"lT 'TlIT I!lT if : 
(1) 'i0i\;o if (2) 'i011.'!0ll:0 if (3) >rnr if (4) "f'f;ft if 

41. The concept of 'Neighbourhood School' as proposed by the Education 
Commission (1966) would have been the effective in : 

(1) Promoting social justice (2) Reducing poverty 

(3) Fighting communalism (4) Dealing with corruption 

'~i'Hll$ "FI' '1ft mr:'Il1J ffll\lT 31T'iI1J !lRT Qw!f"ct '1ft 1"f'fi >ft oil "ll'Wft ~ 
m: 
(1) BIA!f"liji ~ 'lit ~ ~ i\; ffiI( 
(2) lJU<ft d "i <.11 i\; ffiI( 
(3) BI"Q<;!f~ijictl <'r ~ i\; ffiI( 
(4) 'lIl!fi'IR <'r ~ i\; ffiI( 

42. According modern theories of instruction, a teacher may be best de­
scribed as a : 

(2) Driver of the Vehicle (1) Captain of the team 

(3) Pilot of the Air craft (4) Controller of the process 

~ i\; f~<>liHi'i i\; 31:lfIR '<'*' 3'1_ Be1RiA <trr <'r qfUffi OR """'" t : 
( 1 ) itq i\; "iIi'<IR i\; ~ if (2) ~ i\; ill i.1 iji i\; ~ if 
(3) i.1$lif f<IllR i\; QI~i.12 i\; ~ if (4) ~ i\; R~"'Iiji i\; ~ if 

15 P.T.O. 
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43. Which of the following is least expected among adolescents? 

(1) Physical changes 

(3) Daydreaming 

(2) Reasoning ability 

(4) Dependence on elders 

R"1f<'ll1l1ct if ~ <tR f'h:fflil iI; T'f&l ~ "'" 31j4lRct ~ ? 
(1) ~1I{1[l:i!i q[l:'hi1 (2) ctlf<lii!i <ij'~ctl 

(3) ~ ~ ~ (4) ~ 'R f.!$: W1T 

44. The cognitive field theories of learning are characterized by : 

(1) S- R Bond Connection 

(3) Reinforcement 

(2) Perceptual Organization 

(4) Environmental Situations 

~ iI; (i<lHlr4i!i o$r iI; PiI<iI'<fl' iI; 'iii: if f'hB6h &m qf1Jjo f<I;<n Ti<Il ~ : 

(1) dii"li!i 31jf'MI <1''''''IClI<; (2) 'lIi"I'iI WrcR 
• 

(3) ~;jiil<11 (4) q~[CI(ufl~ TIq&[l:&ff'l'"m"'~rili 

45. Equalization of learning opportunities with in the classroom may be 
achieved: 

(1) Reservation of seats 

(2) Relaxation in passing score 

(3) Individualization of Instruction 

(4) Using ICT in teaching 

","'ill if ~ iI; 31CIWY on'\ B41'ictl iI; &m 111'<[ on'\ "'l1 ~ ~ : 

(1) "(ilif iI; 3lR'iI"1 ~ 

(2) ~ at<Iii if fuf'lWl1 
(3) ~ iI; ~~<fflIi!i(UI ~ 

(4) 31U1JlR if 31l{omoito "<!iT wWT 'i!iVIT 

16 
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46. Article 21A in the Indian constitution is related to : 
(1) Empowerment of Women 

(2) Right of children to Education 

(3) Elimination of Untouchability 

(4) Reduction in Social Distances 

'lmiM ~"lR q;r 21 A 3lj"gi; *if>«r t : 
(1) ~ai'r q;r B~[<ffil'li<O[ ~ (2) ~ <it ml\lT q;r a:n>m< ~ 

(3) 3lf'1~~d[ q;r d"L<'I1 ~ (4) B[~[f,"'Ii ~ <it "'Iill ~ ~ 

47. A creative child's classroom behaviour is characterized by : 
(1) friendly with all (2) self-learning 

(3) curiosity (4) Indifference 

~ q"l1k~'Ii <!1ffi; 'lit "'Ii1\lT q;r &1q~R qfUffi "'Ii«IT t : 
(1) ri ~ 45ft'!;'f &1q~[{ lffiT (2) -p;a:n'l'm lffiT 

(3) dO\l'li d [ lffiT (4) a:RIfcff'f;ffiJ lffiT 

48. Which of the following is least desirable feature of a talented child? 

(1) Independent study (2) Superior achievement 

(3) High Intelligence (4) Following directions 

(1) -p;a:r"'I'R 

(3) ~ 1F.ii1hl[ 

(2) ~ d4i.'1f"'l 

(4) ~ q;r lllffi 

49. The a comprehensive definition of personality", which of the following 

should not occur? 

(1) Rigid (2) Organized (3) Unique (4) Dynamic 

17 P.T.O. 
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6!!f,"(q qft ~ 'lR'Il'IT it R"'1f<.1f<Sd it ~ m qft aQ(1fO>l ~ m ~ ? 

(1) 'IiiR (2) B'ifdd (3) 31f&:ffi~ (4) ~lf,"~II<Al 

50. Which of the following theories of personality formed the basis of 
Cattell's 16-PF Inventory? 

(1) Psychoanalysis (2) Type theory 

(3) Trait theory (4) All the above 

f-1"'1f<.1f<Sd it ~ 6!!f,"(q iii ~ ffl"lil'i1 q;r f.r'lfUJ ~ iii 16-PF ~ q;r 

3lTom: t ? 
(1) q;flfq~<'I'Iol 

(3) ~ild!l0l ffl"liHI 

(2) CWl ffl"lil'<l 

(4) aQ\lffi it ~ ,,>it 

51. Which of the following strategies is not much helpful for gifted chil­
dren in the classroom ? 

(1) Grade enrichment 

(3) Grade acceleration 

(2) Curriculum upgradation 

(4) Ability grouping 

~ it >rfu'l1m<Al ~ iii ~ f-1"'1f<.1f<Sd it ~ -.;R W -;ftfu 31f'f'li *1$I~ifi ~ 
t? 

52. The knowledge of Educational Psychology helps the teacher to take 
right decisions about: 

(1) Aims & objectives of teaching 

(2) Curriculum development 

(3) Methods of teaching 

(4) Evaluation techniques 

18 
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~ 31'4lq'li qi) ~ f.ruF! m if Wrl\lT 1l1lf<1~H "'liT <IR \"I~I'I'Ii -.?r<n t : 
(1) Wrl\lT ~ ~ ~ (2) %511",1l f<1'1iI\"l ~ 

(3) Wr~ W"l'lt ~ (4) "[<"'Ii'li'1 W"l'lt ~ 

53. The tendency of measurements to scatter around a central value is 
known as: 
(1) Central tendency (2) Dispersion 

(3) Skewness (4) Kurtosis 

l'!fCR qi) W[fu qi) i\;~l'l "IlR ~ 'CITU am f<1«11\ ~ ~ if "IRl "IffiT t : 
(1) i\;'lij'l W[fu (2) = (3) f<1~lldl (4) 1'2ff@ 

54. If a few scores are markedly more or less than most of the other 
scores, the best measure of central tendency would be : 

(1) Mean (2) Median 

(3) Mode (4) Any of the other 

"'If<:: ~ ~ I '<1 i 'Ii 3F'l Q I '<1 i ";1" ~ ~ 31f'fqi '!I "'Ii'! t 1i\ i\; 'lij 'I W[fu "'liT \"I cilit 11 

l'!fCR ~ : 

(1) "41'4 (3) 'l[<'1i'li 

55. Which of the following in Dot a measure of dispersion? 

(1) Mean deviation 

(3) Standard deviation 

(2) Percentile 

(4) Range 

f1"1f<:'1f@d if ~ 'Ii'R = "'liT l'!fCR ~ t? 
(1) "41'4 f<1il<1'1 (2) Qfu~ldi'li 

(3) "IlA'Ii" ~il<1'1 (4) = 

19 P.T.O. 
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56. If the distribution of scores is positively skewed, it may be stated that: 

(1) The test was difficult (2) The test was easy 

(3) The examinees were bright (4) The test was lengthy 

<Ifu: ~1'<1i'h 'lIT fet(l{OI 'Hli<I'h fqq~<l1 \191l1 i, ~ q;;;r ;;rr ~ i f<I; : 

(1) -.:R\!\l1lT"'hf<r;j 'IT (2) -.:R\!\l1lT amTR 'IT 

(3) -.:R\&lT>ff ~1f¥1'I1( 'IT (4) -.:R\!\l1lT ~ 'IT 

57. Which of the following is true in the care of a negatively skewed curve? 

(1) Mean and median are equal. 

(2) Mean is greater than the median. 

(3) Median is greater than the mean. 

(4) No such statement may be made. 

f-1"'1fclf@<I if "il 'Ii'R -mT i ,*,0lli<l'h fqq~<l1 ern; 'i\; 'lit if : 

(l i """" 1l:'i 11lf"'f'fIT <rmR i 
(2) """" 11lf"'f'fIT "il aU'l'h i 
(3) 11lf"'f'fIT """" "il aU'l'h i 
(4) ~ 'lit if ~ q;;;r ~;;rr ~ i 

58. Which of the following is not true for a normal probability curve? 

(1) Symmetry about the Central Ordinate 

(2) Shaped like a Beli 

(3) VisiLly high peak 

(4) Mean, median and mode coincide 

20 
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\1141"1 Qlf~'hill q,n ~ '1ft if f'''1f<'1f@iI if"i\ otfR.m ~t : 
(1) ll:"O iIi'lil4 ~ ~ '1ft if \1'10'1 

(2) 'kl'hR 

(3) i'<fi ~ qi\ "OW ~ 

(4) '!T"-l, 'lTf"'l'hT ~ ~~i"Ii'h "ffilR fi:R1 offi\ t 

59. When variables X and Yare correlated, then 

(1) X causes variation in Y (2) Y causes variation in X 

(3) X and Y vary independently (4) X and Y vary together 

'"" X ~ Y 'if{ \1~\i~", ~ t "" : 
(1) X, Y if fqiiHOl "'hi 'IiT{1J! t 
(2) Y, X if fq'i1{UI "'hi 'IiT{1J! t 
(3) X am: Y"ffilR >i<1i1,," f<1'i1{ul ~ t 
(4) X am: Y m"f-m"f fq'i1{UI ~ t 

60. If highest score is increased by a small amount then, which of the 
following is true ? 

(1) Mean will not change 

(2) Median will not change 

(3) Rank order will not change 

(4) Both mean and median will change 

"'Iil; ~ QI'<I i'h <'l"'! at<!;- lffiT ~ t "ffi H"1f<'1f@iI if "i\ otfR .m t ? 

(1) '!T"-l 4R<lRlii -;@ m 

(2) 'lTf"'l'hT 4R<lRlii -;@ m 

(3) A '"" if 4R<la1 -;@ m 

(4) m '!T"-l ~ 'lTf"'l'hT 4R<lf<!iI m;r 

21 P.T.O. 
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61. When a class of people tends to copy the ways of living of upper class, 
the process is known as : 

(1) Modernization (2) Westernization 

(3) Sanskritization (4) Urbanization 

'"" 1l:"I> «R it .wr ~ 3W! crf it WI it ~ <t\ ~ m t ~ >Ifso<n 
<t\ 0fRl "IRIT t ~ : 
(1) 31T~f1'h1ifi,ul (2) 'l1~lcq""UI (3) \1i\1irnifiifi,UI (4) ~1~,lifi,ul 

62. The concept of modernization is characterized by : 

(1) Learning western ways of living 

(2) Increased use of Science and Technology 

(3) Putting on tight-fit cloths 

(4) Using new me?DS of recreation 

31T~'hlifi'UI it \1<Qcq~ <t\ f,,¥I4dl '«IT'i\ "ITi'il t jffil : 

(1) WI it 'l1W<'l ~ 'lit lAllil'1l 

(2) fcr.lR ll,Ci difi41ifi 'liT a:IT'I'O "d",q~mll1T'1 

(3) 'fiIll,Ci ~ m '1['RT 

(4) 11;fl("I'1 it "1il m...n 'liT m"'f>"R[ 

63. The goal of providing equal educational opportunities for all cannot 
be achieved under : 

(1) Privatization of education (2) Govt. controlled system 

(3) Open learning system (4) Govt. assisted system 

~ WlR ro8Jl 'liT 3WR ~ 'liT ~ f.f<;j if it f<f;il >IT'<! W "" <lif>m : 

(1) ro8Jl'IiT Rollifi,ul 

(3) ~~<t\~ 

22 
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64. The philosophy of naturalism is reflected in the system of : 

(I) Navodaya Schools 

(3) Playway Schools 

(2) Central Schools 

(4) Private public Schools 

Qq>rnClIi; 'liT ~ Qf~f~f"1~ iRn ~ ~ollctl it : 
(I) 1ql<~ fqtlk1~ 

(2) <l>'l;1~ fqtlJ(1~ 

(3) ~ il; 3lTlR f<l@~ qf.t ~tll(1~ 

(4) f.r;;ft (llel"lR'Ii fqtll(1~ 

65. India needs a national system of education because we follow the 
principle of : 

(I) Democracy (2) Equality before law 

(3) Unity in Diversity (4) Secularism 

on«! i( fu8J1 qft mfr'l QUllcti qft "41'H~'Ii~1 ~ i'f'i)f<l> ~ f<lOGHl 'liT 'lffi1 ~ 
~: 

(I) Q"II<lIfo?l'li 

(3) W'Nffi i( 11:'Ii<lT 

(2) (lAl1dl 'liT R'lt! 

(4) '1li fuil~ 

66. The period of primary school education (age 6·11) corresponds to 

Piagets stage of : 

(I) Sensory Motion (2) Pre operational 

(3) Concrete operational (4) Formal operational 

m'lfl:r'li ~ fu8J1 ("3>1 6-11) 'liT 'IiJ('1 firiR il; <=<R it (ll4f-"f<! ~ : 

(I) ~ 71fu (2) ~ <irlMI<'Il'li 

(3) ljl! <ifsl>~I<'Il'li (4) "a4i11fl:'Ii <ifsl>'1lr'1'1i 

23 P.T.O. 
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67. When distribution of scores is symmetrical the most appropriate mea­

sure of central tendency is : 

(1) mean 

(3) mode 

(2) mediam 

(4) geometric mean 

'"" QI«II<hl' Of;! fq(i,UI WlR it 1i't i\i'li'l~ ~ Of;! ~ ~ l1l'R t : 
(1) 1lI>Zf (2) llIf>ZfOf;l 

(3) '1W1'" 

68. When a constant is added to a set of scores, which of the following is 

not affected? 

(1) Range (2) Mean (3) Mediam (4) Mode 

'"" ll:<t af<hl" i\; WIjr if ll:<t ff>I,j", "<hl ~ "ffiIT t. H"1f<.1f@(i if flf;;j 'R "'lm 
w~t? 
(1) fq<kjl\ (2) 1lI>Zf (4) 'IWI'" 

69. When each score of a distribution is doubled, which of the following 

will not change ? 

(1)' Standard deviation 

(3) Percentile ranks 

(2) Mean deviation 

(4) Interquartile Range 

'"" ~ QI«Ij", i\; fq(i,UI "<hl ~"" W1T "ffiIT t. H"1f<.1f@(i if flf;;j 'R 3R'I1: 

w~? 

(1) '<R'f> fqil<.11 

(3) QR1~I(ij", <m: 

24 
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TO. Who emphasized education of head 'heart' and hand ? 

(1) Gandhi (2) Tagore 

(3) Sri Aurobindo (4) Anne Besant 

'qn<1",,' ~ ~ m~ ~ ~8JT ~ ~ -;iR ~ t : 
(1) "lJit:i\ (2) ~ (3) m "mrll1~ (4) lJ;llilfl'"2 

Tl. Education was considered 'third ~' of man during: 

(1) Ancient Period (2) Medieval Period 

(3) British Period (4) Buddhist Period 

~ 0lIft!; ~ <mro ~ 1RllII 1f'll O/T 'ffi'I if : 
(1) m<fR 'ffi'I if (2) 11"l 'ffi'I if 
(3) ~ 'ffi'I if (4) ~ 'ffi'I if 

T:I. The student life, during ancient period, was termed as : 

(1) Brahmachary Ashrama (2) Grahstha Ashrama 

(3) VanaprasthaAshrama (4) Sanyasa Ashrama 

1Ir.IR 'ffi'I if fiffiT>if ;;ftq.J fM4>l '"' -.mn O/T ? 
(1) ,u!I<l4 31JW! (2) 1IWI 31JW! 

(3) qI1~f'l 31TW! 

Ta. Which ()f the following fields of knowledge is known as the science of 
behaviour ' ? 

(1) Anthropology 

(3) Psychology 

(2) Philosophy 

(4) Sociology 

~"'f<'1f€ld if "fI ~ -;fA il; II)-, 1IiI ' .... 81< il; f<;;!R' ~ OW -;;jf1"f ""'" t? 
(1) llRCI W{'l[ (2) G'If~1!118 (3) Q;j)f"iitI1 (4) ~ql"1~lIet 

:III P.T.O. 
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74. Which of the following is the most desirable trait of a teacher? 

(1) Communication skills (2) Knowledge of the subject 

(3) Attractive Physique (4) Concern with the students 

f.t..,f<'lf!Slo if "\'t al'4lq"f; if; m ~ <!iT ~ 31ft! '1i .. ;j1~ t ? 
(1) ~~qol ~ (2) llr<P:r <!iT -.rr1 
(3) all"f;<i", 'HlCI" (4) mrroff'R '4R ~ 

75. An in-depth study of Person's behaviour in order to solve his prob­
lems is known as : 
(1) Sociometry (2) Case study 

(3) Ethnography (4) Eulogy 

N~HI1 <!iT iilCl~R <!iT 1ffl"'! 3l"'I'R .'8Qt41 if; f.rc:R if; ;till Tj ;;rr;n "ITffi t f<!; im': 
(1) mtr.l ft!fu (2) if;;g al"'I'R (3) l!RCI ~ (4) 'i<!lMl;;jj 

76. "Environment can completely change an individual" was stated by: 

(1) Pavlav (2) Thorndike (3) Skinner (4) Watson 

"q~fq{OI ~ CIit '{?f-~ "\'t qf{'Idfd q;-.; ~t" <f>m 'IT if; im1 : 

( 1 ) '1«'!'1 (2) I!lfl:f.<s"f; (3) ~ (4) ""'11=,,'8"''1 

77. Sportsmen and film actors are ideals for a person during the period 
of: 

(1) Childhood (2) Adolescence (3) Adulthood (4) Old-age 

flo<:! <!iT<'! Tj f&<'1I'$'1ll:'t alf.rnrr "'Ifm<il if; fuJ< .3lmi mit t ? 
(1) 41<"'1"'1<'1 Tj (2) f<I>~rI{ICI{41 (3) Q1ijil'l{41 (4) 'lOfiICl{41 

78. Which of the following is not desirable behaviour during adolescence? 

(1) befriending the opposite sex 

(2) worrying about vocation 

(3) depending on parents for decisions 

(4) developing and using reason. 

26 
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f",~il{lq~lql "liT('! if fol"lf<'lf<Slct if "it q;'\-;r w O!Iq~1< qig;jj~ "ltT t ? 

(1) f'lq~lct fWT it; "5Ifu "1lifififct ~ 

(2) 31 'I ifi I~I it; <IR 1'\ f\'.R;l "ifi\'!T 

(3] f.ruf<! it; ~ 3lf'f~ 'R 3i1fml mr 
(4) ifil<<h)'"ifiT m ll:'l f'lifilfl "ifi\'!T 

79. Adolescents come is conflict with elders mostly due to : 
(1) Generation Gap (2) Fast physical changes 

(3) Development of Reasoning (4) Sexual development 

f",W{I'If1!l1 if "!WI: ~ "it ~ ~ m ;;mIT t f"lMI "ifiT\TJT t : 
(1) '<ft<tt if a:RR (2) ~"it ~1I\lRifi qR'Id'l 

(4) ~ f'lifilfl 

80. Which of the following gave a major boost to English Education dur­
ing the British period? 

(1) Macaulay's minute 1835 (2) Auckland's Dispatch - 1839 

(3) Hardinge's Resolution 1844 (4) Wood's Dispatch - 1854 

f~f~~lifil<?1 if ~ ro~ '1ft ~ fol"lf<'lf<Slct if "it f"'f1if; &ro ~ ? 

(1) ~"ifiT f'lct(olq~ 1835 (2) "1Tificl O1l"ifiT eilqollq~ 1839 

(3) ~"ifiT m<I1'I 1844 (4) "¥"ifiT "ilqollq~ 1854 

81. Which of the following is independent of one's relative position in the 
group? 

(1) Standard score (2) Percentile Rank 

(3) Percentage of Mark (4) T-scores 

27 P.T.O. 
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f.lI·'1f<'lf(!ld it "it ~ it ll.'f>" <!IT <TI'<i'< wmr «1d~ t : 
(1) ~ ~1'<1iifi (2) ~Rwmiifi 

(3) ~"'fiT ~fu~ld (4) ito ~1'<1iifi 

82. The theory of survival of the fittest' was advocated for by ? 

(1) Victor Henri (2) Francis Galton 

(3) Charles Darwing (4) Alfred Binet 

''"{ctl$'!<,1 31'fq; <:: rq,~~' '" J'dOliI~ "'fiT '"'loR ~ f<i;<n ? 
(1) ~ m (2) lliif'd," lJR'G'I (3) ~ ~ (4) ~ fiR 

83. Which of the following developed a multifactor theory of Intelligence? 

(1) Charles Spearman (2) Karl Pearson 

(3) J.P. Guilford (4) R.B. Cattell 

~ '" iil~R"'l"1 f'dOliI~ "'fiT f"ifil," f1..,f<.1f(!ld it "it f"",<l; l:m f<i;<n 'l"IT ? 
( 1 ) ~ f'i) "I {4 '1 (2) "ifiT<'i f':1 '@'1 

(3) "to1fto fil(1q;;i (4) 31T{0<i\0 m 

84. The Secondary Education Commission (1952) was headed by • 

(1) Dr. Radha Krishanan (2) Dr. A.L Mudaliar 

(3) Dr. D.S. Kothari (4) Dr. S.S. Bhatnagar 

liT>4Mifi rn~ aw:iM (1952) <!IT 3l>4~ ~ <!IT olt ? 
(1) 6[0 U'<I'f'"'I,\ (2) 6[0 ,<0 v:<'fo "'''l'?"~lmf",'''''I''''{ 
(3) 6[0 ~o ","0 ~dRl (4) 6[0 ","0 ","0 'ie'1I'R 

85. A firm recruits typists only when each of their types at least 60 words 
per minute. This evaluation is : 

(I) Formative 

(3) Norm- referenced 

28 
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~ "!>II GI.fq(,;! Wl'! if ~ 0'1 O14fUi<l! <lit ~ t ;;it ~ flI'R if q;l1 ~ q;l1 

60 ~ CW! 'lit ~ 'i<"'li<t>'1 t : 
( 1 ) ""IT"<t>"f.t CIR'Il (2) iii 1.2 R ~ '1 R q;{ '+S 

(3) "1fII R'l;'t'+S (4) {lilf~CI 

86. Observation-of classroom interaction by the teacher may form a part 
of: 

(1) Formative Evaluation 

(3) Curriculum Evaluation 

(2) Summative Evaluation 

(4) Programme Evaluation 

31~ 1:RT ~ if 3Iffilt Clldh.'ll'l '!iT f.Rl&JUT ~ 'l1'T m ~ t '!iT : 

(1) ("I'1lt<1<t> 'i<"'li<t>'1 (2) ~ 'i<"'li<t>'1 

(3) qldllilill 'i<"'li<t>'1 (4) <t>1%1l 'i<"'li<t>'1 

17. Which of the following Indian states was first to set up an open uni­

versity ? 

(1) Andhra Pradesh (2) Bihar 

(3) Chhattisgarh (4) Delhi 

{l4~'1'1 ~ f<I'!Ifq<lI(1~ 'lit *'IIQ'11 'l1«I it;-~ <R'! if 'lit Tf'ft ,ft ? 

(1) 3IAl m (2) ~ 

(3) ""'{Ill,, (4) ~ 

II. The title of the famous Education Commission (1966) Report is : 

(1) Learning to be 

(2) Education and Social Change 

(3) Education::::.nd National D~"f;lnr)~!';-·'· 

(4) Learning without Burden 

29 P.T.O. 
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~ fua:rr·3WirT ( 1966) ~fM<;'i q;] Wfq;- t : 
(1) w.f>T ?; oft (2) Q!iii\;~H ~ ~ ~ 

(3) Q!iii\;~I'i ~ ~ ~q(1q~'C (4) w.f>T fq<;IU ~ 

89. The report "Towards and Enlightened and Humane Society" was the 

report of the committee headed by : 

(1) Prof. Yashpal (2) Janardan Reddy 

(3) Sukhdeo Throat (4) Acharya Ramamurti 

"<;;<1iB ~ $'i(1I~~'$ ~ ~ lii\(lI~l1" ufl:!fu i\; ~Rli'l<;'i 'Iil a:{Vl~ f<li(li\> 

IDU 'Iil 'T'1l ? 

(1) >ito ~~lql(1 (2) ,"11~'i ~ 

90. The first modem university in India was opened at : 

(1) Bomabay (2) Calcutta (3) Delhi (4) Madras 

'l1«f ii 'l!'l'l 31T~ fcT~rq'W(1~ ~ 1f'IT 'll : 

(1) ~ ii (2) <;>(1<;>\11 ii (3) f<;R'fi ii (4) l@"\l ii 

91. The Banaras Hindu Universtiy was established in the year: 

(1) 1857 (2) 1902 (3) 1916 (4) 1920 

'HR(l ~ fcT~fqi;lI(1~ 'Iil <"'\Iq'il 'f1f ii 'Iil 'T'1l oft : 

(1) 1857 (2) 1902 (3) 1916 (4) 1920 

30 



92. The purpose of opening Navodaya Vidyalayas' is to : 

(1) Promote national integration 

(2) Develop rural talent 

(3) Provide for free education 

(4) Produce men of ability and character 

1<'i1~'1 fqi\lli.1'1 ~ q;r ~ t : 
(1) ~ ~ <it 'llW'IT -t-IT 
(2) JI1l1tur ~ <it fq.,f+l<1 <R1T 

(3) f.t:~ ro~ "IRA <R1T 

(4) l1J1CI tj ~ q <rft:l q;r f.fl'IfuT <R1T 

93. The concept of IQ was first given by: 

(1) William stem (2) Jean Piaget 
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(3) Alfreds Binot (4) Charles Spearman 

~foG(1r."1 '1>1 ~'lrn fifi\1if; llRl '1>1 -.,.IT .:ft ? 

(1) Mf",'1~ ~ (2) ;;fA ~ 

(3) ~ f<f.\ (4) ~ f'fi'l\41 

94. Which of the following is the most suitable measure of central t ten· 
dency for a shoe company to plan its production and distribution? 
(1) Mean (2) Median 

(3) Mode (4) Harmonic Mean 

"ISIT .,JJ441 dNI~'1 3ih: fqi!\OI '1>1 ~ i!; ~ f'l'"1f8f<5ii! tj ~ ..m \1<ifqgu; 

if; 'l(I 'I WIfu q;r "IT'R t : 
(1) llTV< (2) lllf~ 

(3) iii 8(1 i., (4) ~ I <i!f.l., llTV< 
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95. Which of the following does .. belong to others? 

(1) Interest (2) Attitude 

(3) Anxiety (4) Achievement 

f.i"'1R1fu1d -q B ~ 3FI ~ ~ .. t~n : 
(1) m (2) a1f~ (3) f,;r:m (4) aq<'lfMl 

96. Which of the following is true for ~ teacher made test 

(1) It is used for long·term decision 

(2) It has norms 

(3) It is context-specific 

(4) It is usable on large group. 

~ mu f.lfifa W8:l"I it; ~ flI ... ~f1Id -q ~ ~ ~ t ? 
(1) ~ m <'i<It 3l<iftT ~ ~ t- fi?rl!. 11f;qr "ffilT t 
(2) 'Il!" "11'l'li'r'f t 
(3) 'Il!" ~ ~ t 
(4) 'Il!"~~'R .flm~~t 

97. Which of the following is a,t truF for the NCERT ? 

(I) It advises the government on Policy 

(2) It is an R&D wing of MHRD 

(3) It is a regulatory body for schools 

(4) It publishes books and journals 

f.i"'1f<.1f!!ld -q ~ ~ "Il;!o';:ftolo3lR oil_ it; fi?rl!. ~ ~ t : 
(1) m'R B('liR q,'t ~ t-lT 
(2) 'Il!" 1l:'!o,{o3lRotlo q,'t ~ liItT ~ fq'liIB ~ t 
(3) 'Il!" f'l'lI<'1'1 it; fi?rl!. f.WlIq> <1M t 
(4) ~ f<lidlil ~ ~ "'Ii1 "'-""1 ~ t 
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98. The modal value of a distribution of scores is 25. This means that: 
(1) The middle score is 25 (2) 25 is the highest score 
(3) 25 occurs most frequently (4) A score occurs 25 times 

QI'<!i<!>-r il; fqd{OI 'l>l ~ ~ 25 t -.m't ~ ~ Ff; : 

(1) 'I02( QI'<!iif> 25 ~ (2) """WI QI'<!iif> 25 ~ 
(3) 25 'l>l ~ ~WI> ~ ~ (4) 11.'1> QI'<!iif> 25'IR ¢!I'lT ~ 

99. A students scored at the median in a teacher made test. This means 
that: 
(1) The student was at the average 
(2) He stood just at the middle of the class 
(3) He failed in the test 
(4) His performance was medium 

~ f<mr?jf 31~ &RT f.lflfu <Rta:l"T '" liIfUJ'f>T at'f; >11'<1 '1m!T ~, -.m't ~ 
.g Ff; : 

(1) f<mr?jf ~ 'IT 

(2) -ail if>aJi if>T ofai!C;jilltofai!TTrij if>T oor WlW ;;nil 
(3) Cfi\" <Rta:l"T it 3!j'<ll of it l1'!1 

(4) "3r!if>T Q 'lj<fl if> { 0 I 'I"Ilf 'IT 

100. The percentile rank of student was 45 in a class test. This means 
that: 
(1) There were 45 student in the class 
(2) His rank was 45'" from the top 
(3) 45% classmates score below him 
(4) 45% classmates scored above him 

if>aJi <Rta:l"T ii f<mr?jf if>T QRl~liIiif> "BR 45 'IT -.m't 31T'IT"! ~ Ff; : 
( 1 ) -q;aJi ii 45 f<mr?jf ot 
(2) "3r!if>T"BR 0i'R if 45 <iT 'IT 

(3) 45 % ("l€lqldl ~ q;-q at'f; >11'<1 ~ ot 
(4) 45% {!€lqlfd~"r it ~ mWl> at'f; >11'<1 ~ ot 

33 P.T.O. 



llP/246/20 

101. The number of students securing first division during the period of 
last five years (year wise) may be shown by : 

(1) Ogive (2) Histogram (3) Pie Chart (4) Bar Chart 

alR!l! "<iRI qq'f (~ '!R) 'it; Wl<r 'it; ~ Wlll WIi\ 31A qffi W5it q,'\ W9!!T 'lit 
Q<;f.lfd f<.!;<rr "IT """" t : 
(1) aWftq ilRT (2) ?'~~dml~lmq ilRT (3) 1ft ~ ilRT (4) '!R ~ ilRT 

102. Which of the following does not form a part of the definition of intel­
ligence ? 

(1) Abstract thinking 

(2) Adjustment with the Environment 

(3) Learning ability 

(4) Effective social interaction 

f.l"'lR1fllld if it ~ ~ q,'\ 'Ift'lT'll q;r a:j1qi"1If{", '1f1T"'ItT t : 
(1) 31l{ir f'RR (2) q~f'Hol 'it; W'l nBrnql';~;"'I"I"'1 

(3) ~ q,'\ a;TI!l!T (4) JI'W'ft Blqif"l", awrol f<mf 

103. The creative ability may, be suitable equated to : 

(1) Convergent thinking (2) Critical thinking 

(3) Positive thinking (4) Divergent thinking 

~"I11«l", a;TI!l!T B!lfild ~ it WlR m ~ t : 
( 1 ) '" oq{;Jf;oc m (2) ;ji'"I",lr.l i"1"'1"'1«l=", m 
(3) '111«l'" m (4) <l1~q{<i10G m 

104. Which of the following does not form a component of creative 
behaviour: 

(1) Fluency (2) Frequency (3) Flexibility (4) Originality 

f.l"'lf<'lfllld if it ~ ~"I11<"1'" oqq~R q;r ~ >gq; "'ItT t? 
(1) >I'ffif (2) ~ (3) cl,;f\cllQ1 (4) ql~fq",dl 
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105. Which of the following does not belong to others? 

(1) Charles spearman (2) E.L. Thorndike 

(3) L.L. Thurstone (4) E.P. Torrance 

H"1f<1f(!l<1 if <!iR 3F'l ~ fIw!R om wlt t: 
(1) ~ f'll~,4'l (2) toll.<'!o >i'I":Sl'h 

(3) ll.<'!oll.<'!o'HI(iH (4) to<fto~ 

106. The name of Kohlberg is associated with: 

(1) Creative behaviour 

(3) Moral development 

if;lcl'l'[ q;r '1T'l lil'4f.'I<! t ii> "ill"! : 

(1) ~"'"I<'iq, "'l~QI( 

(3) ~ !i1'hllil 

(2) Theory of Intelligence 

(4) Projective techniques 

(2) '!!f.i; q;r fB"liHI 

(4) ~arn fo!f~ 

107. Which of the following is an examples of technology of education? 

(1) using a programmed text 

(3) Use of computer teaching 

(2) Using T.V. set in teaching 

(4) Use of LCD in teaching 

f-1"1f<1f(!l<1 if ~ <!iR fu8;ll qij <1'h;fl'h q;r v;q; 3~1~,ol t? 
(1) 4l"l'l1'1~ V:m q;r m ~ 
(2) '!l;f.\ if If<1f'l''l'l -m: q;r m ~ 
(3) 'h"'i<!' fu8:l"1 q;r m 
(4) fu8:l"1 if ll.<'! 0 Wo tI 0 q;r m 

108. The privatization of higher education will most probably-result in: 

(1) The collapse of government created system 

(2) Deprivation of Poor people 

(3) Fall in quality of education 

(4) Spread of education among masses 
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~ ro!!:1T 'liT f<lf'h{ol ;>I1'H~q; ~ qROII'1 irTr 1ft : 
(1 ) lA {q; R lffiT f.ffl:rn ~ 0 II en 'liT ~ ~ 

(2) <WI..mt qi'r <ifcI1I <mT 

(3) ro!!:1T !l0l'hldl -q rRlqi! 

(4) ..mt -q ro!!:1T 'liT m!R ~ 

109. The "Operation Blackboard" was a programme of the government for: 

(1) Improving physical facilities in schools 

(2) Promoting literacy among adults 

(3) Replacing old blackboards by new ones 

(4) Providing one blackboard per class 

lA{q;R '1ft <iRRr '~lq't~11 ~ oiIt' >It iI; 1W< : 
(1) "FI -q ~ WI'<l 'liT ~tm: <mT 

(2) ~ -q m!\l«lT qi'r ~ ~ 

(3) ~ ~~I'1 qi! qi'r ~ '"' "'!"IT <1'1RT 

(4) ~ q;!!:1T iI; 1W< ~ ~~I'1qi! aq<.1&l <mT 

110. The concept of SUPW was given by : 

(1) Yashpal Committee 

(2) Ramamurti Committee 

(3) Adiseshaiah Committee 

(4) Zakir Hussian Committee 

~ .'1, 1ft .~ 'liT firnT< ~ l!lIT 'U : 

(1) ~~lql<.1 q;i'tij 

(3) ~R:i\'u~ q;i'tij 
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111. Which of the following test is based on projective techniques? 

(1) Raven's Progressive Matrices 

(2) Caltell's culture fare test of InteIligence 

(3) Minnesota Multiphatic personality Inventory 

(4) Thematic Apperception test 

m i( it ~ 'Ifl:&M "l[~ difiHifi "t[{ aw:rrfuf ~ ? 

(I) 00 'lIT lij'I{Rl<'! ~r~'ffi 
(2) ~'lIT~'lIT~WRm 
(3) f'l'l\"1lcl qfi.;Gi'fif{ifi Q«1if<'lfl ~'Ii1"'(1 

(4) ~ilflifi 0lfflaB'I m 

112. The UGC Act was in which year? 

(1) 1947 (2) 1956 (3) 1964 

"'{a;;flama 3lf'lf.r:r<r ~ <'l'f it awcrr 'IT ? 

(1) 1947 (2) 1956 (3) 1664 

(4) 1986 

(4) 1986 

113. The Rehabilitation council of India (RCI) in an organization that pro­

motes: 

(1) Public Health and Nutrition 

(2) Welfare of poor citizens 

(3) Education of exceptional children 

(4) Empowerment of women 

f{~ f "" ~~11 ifi Id"W1 31fq; ~fU '5 ~ I (am: a m a 3l1{ a ) WrO'r ~ <!>'t 'iI<" f";<lFI'lT 'IT: 

(1) BI4"1Hifi f<llf1!r!l1l;'i ti'tquJ ~ (2) <R\"il 0RiiT ~ ~ ~ ~ 

(3) mM ~ 'lit fu~ ~ ~ (4) lfulTatt'liT 3lf"l<liR ~ ~ 
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114. Which state of India has the highest literacy rate 

(1) Himachal Pradesh (2) Punjab 

(3) Haryana (4) Kerala 

'1'1"«! qir ~ "lJ;;<[ '1ft ml\ffifl ~ 31f~ ~ ? 
(1) f~ql'cl<"l ~ (2) ~ (3) ~R'1IUII (4) 'im1 

115. Which of the following is not an ancient Indian University? 

(1) Kurukshetra(2) Nalanada (3) Takshashila (4) Vikramshila 

H"1f<'lfl!ltl if m '1'1"«! 'fiT "lIT'1R fl'!'!l fct'aI<.1'1 om~? 
(1) ~~ (2)"'lR'iG!· (3) o~ (4) fctiliqF.iI<.11 

116. Which of the following does not belong to others? 

(1) Decile (2) Quartile 

(3) Percentile (4) Percentile Rank 

f1"1f<1f@d if m :31"'1 it ~ ~ \19<11 ~? 
(1) ~ 
(3) ~Rl~ldi<l> 

(2) ~1l1i'f; 
(4) ~Rl~ldi<l> t.;; 

117. Which of the following was concerned with the Muslim Minority in 
India? 

(1) Mandai Commission 

(3) Kothari Commisssion 

(2) Sachchar Commission 

(4) Mudaliar Commission 

H"1f<'lf@d if it m '1'1"«! if Sf«.1Q ,>1('4fi&1<1> ~ m'l ~ \19<11 'IT? 

(1) ~ 311'i'rT (2) ~ 311'i'rT 
(3) <b1 al {I 311'i'rT 

118. The rank difference method of correlation was given by : 
(I) Pearson (2) Thorndike (3) Spearman (4) Kendall 
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\"I~~oj~ t;q; 1%'l>{'\"Ill'lS JIGR q,'\ 7f'fim, llRT : 

(1) N'H\"I~ (2) ,"01,,1;;'" (3) f'll~(4~ (4) <1;'",,1 

119. The 'National Curriculum frame work' 2005 is based on the philoso­
phy of: 

(1) Conservatism 

(3) Constructionism 

(2) Reconstruction 

(4) Existentialism 

'~~I1<'1 <1;R'!'Wl JhqCl<t' 2005 fMiIi ~ ~ a:rr>l!fur ~ : 
(1) ",f$ClI<; (2) 3~f4q[ul'lIG (3) Rq[UI'Ut; (4) 31f-RIiClClIt; 

120. The real limits for the class interval 35-39 may be written as : 

(1) 34.5-39.5 (2) 34.5-38.5 (3) 35.5-39.5 (4) 35.5-38.5 

35-39 <rf31~1(I<'I if; ~ ClIWf<l", <ft1:rr .m wrn: ft;mfi "IT ~ ~ : 
(1) 34.5-39.5 (2) 34.5-38.5 (3) 35.5-39.5 (4) 35.5-38.5 

121. A distribution is said to be skewed if score are: 

(1) Evenly distributed over the scale 

(2) Bunched towards one side of the scale 

(3) Concentrated around the central value 

(4) Symmetrically spreads over the scale 

1% f<l d (U 1 q,1 fertrq "lim onm ~ "I'f« ~ 1 «Ii", m : 
(1) lJT1T'ft ~ W1R ~ <'t f<ldRd m 
(2) lJT1T'ft ~ 1% am: ~'Ifdd m 
(3) iIi'S;l~ '1R if; '¢-fiT<{ 'l>'I'F~d m 
(4) lJT1T'ft ~ W1R ~ <'t ~ m 

122. The mid-point of the class interval 10-19 is : 

10-19 <rf"l',I(I<'I q;jlj~ ~ : 

(1) 15 (2) 15.5 (3) 14.5 

39 

(4) 14 

P.T.O. 



llP/246/20 

123. The class width of the interval 15-24 is : 

(1) 10 (2) 19.5 (3) 9 (4) 8.5 

124.'If 10 scores are arranged in ascending order of magnitude, the me­
dian score will be : 
(1) 5" from the bottom 

(2) 5" form the top 

(3) The mean of 5'" and 6" scores 

(4) The difference of 5'" and 6'" scores 

<If<:: 10 Qt<tliilif ~ 31"f'T;R "<hi ~ ll>'I if flH4iN1d ~ t lllf_ Qt<tli"; 

m: 
(1) ~,,~ (2) ~,,~ 

(3) 5~ afu: ~ Qt<tli'h'( 'tiT ll"l (4) ~ afu: ~ 'tiT 3RR 

125. The standard deviation of set of scores is a If each row score is multi­
plied by a constant k the new standard deviation is : 

Qt<tli'IW ~ ~ 'tiT l1f'f'Ii fq'i'Hi!'i i " <If<:: ~ Qt<tli"; ~ ~ "<hi '~' 
fi>q,i"; " 'J"lT ~ '" '<'IT l1f'f'Ii fqili"!'i i ? 

(1) K" (2)" (3) "jk (4) k.J(7 

126. One of the most famous books on Philosophy of Education is authored 
by: 

(1) Best (2) Rusk (3) Gagne (4) Bruner 

fu~ ~ '1ft ~ ~ 3«1<hl if " 1l!f>" fuW 1T'ft i : 
(I) ~ lmT (2) n<I> lmT (3) it'! lmT (4) '!3< lmT 
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127. The concept of mUltipurpose' schools was first given by : 

(1) University Education Commission (1948) 

(2) Secondary Education Commission (1952) 

(3) Ramamurti Committee (1990) 

(4) Yashpal Committee (1953) 

'i~ f'1'!ll<.1~ q;'t 31cf'1RUlT mll!>m w;R q;'t 'T"ft oft : 
(I) fc!'!lFc1t1I<.1~ ml\lT awWr( 1948) (2) "'~ ml\lT awWr (1952) 

(3) {14'ifd <ffilfu ( 1990) (4) ~~lql<.1 <ffilfu (1953) 

128. The provision for reservation of seats for OBC students in higher edu­
cation was made in this year: 

~ ml\lT ii 3F! ~ onfu ~ fo!mf.pjy ~ fc11< -mil' ~ 3!R&JUT 'liT 11T'I'IR foo<:! 
<r<f ii f'li<rr 'T'lT '11 ? 
(1) 1990 (2) 1998 (3) 2006 (4) 2008 

129.According to Piaget's theory, a child can develop number concepts at 
the age of: 

(I) 2 years (2) 5 years (3) 7 years (4) 11 years 

~ ~ f~O&Hl ~ ~ TI.'O ~ ~ ~ 4Qi~~ 'liT f'l'lil<'l foo<:! OR ii "'Ii{ 

Wl><!T t ? 
(1) 2<r<f (2) 5<r<f (3) 7<r<f (4) 11 <r<f 

130. The Sarva Shiksha Abhiyan (SSA) was first launched by the Central 
Government headed by : 

(1) Rajiv Gandhi 

(3) Atal Bihari Vajpai 

(2) Narsinmha Rao 

(4) Manmohan Singh 

"" ml\lT aTI'1'IR (SSA) mll!>m ~ W'liR ;mJ 1lR1"! f'li<rr 'T'lT '11 : 
(1) ~ 'll>ft (2) 1\f~4;1 W1 

(3) 3R<.1f'l51(1 ql"lG<il (4) 411T151JW 
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EI~1rI()!r-II 

(English Language Comprehension) 
!rote: Attempt all the 20 questions in this Section if you do not opt 
for Election-IlIon Hindi Language Comprehension. 

Four alternative are given as possible answers to each question. Give 
the correct choice as an answer. 
Directions (Q.!ros. 131-135) : Read the following passage carefully 
and answer the question based on it. 
Books are, by far, the most lasting product of human effort. Temples 
crumble into ruin, pictures and statues decay, but books survive. 
Time does not destroy the great thoughts which are as fresh today as 
when they passed through their author's mind. These thoughts speak 
to us through the printed page. The only effect of time has been to 
throw out of currency the bad products. Nothing in literature which 
is not good can live for long. Good books have always helped man in 
various spheres of life. No wonder that the world keeps its books with 
great care. 

131. The world keeps its books with care because: 

(1) They bring great ideas to us 

(2) They help us in various spheres of life 

(3) They educate us 

(4) They make us successful 

132. Time does not destroy books because they contaln : 

(1) Great ideas (2) Subject-matter for education 

(3) Useful material (4) High ideals 

133.0f the products of human effort, books are the most: 

(1) Enjoyable (2) Useful 

(3) Import (4) Permanent 
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134. Thoughts speak to us because: 
(1) They are like human beings. 
(2) We are thinking beings. 
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(3) We can understand the ideas expressed in books. 
(4) None of the above. 

135. Good books, according to the passage are those that are: 
(1) Helpful (2) Well-written 
(3) Good-looking (4) None of the above 

Directions (Q. Nos. 136-138) : Select the word nearest in meaning 
to the given word. 

136. Reliable : 
(1) Helpful (2) Dependable (3) Honest (4) True 

137. Honorary: 
(1) Respectable (2) Dignified (3) Unpaid (4) Rich 

138.0bligatory : 
(1) Useful (2) Compulsory (3) Stab born (4) Adjusting 

Directions (Q. Nos. 139-1411 : Select the word opposite in meaning 
to the given word: 

139.Vice: 
(11 Vision (2) Virtue (3) Wise (4) Kindness 

140. Arrogant: 

(1) Pleasant (2) Polite (3) Humble (4) Flattering 

141. Scarcity : 

(1) Shortage (2) Poverty (3) Abundance (4) Excess 

Directions (Q. Nos. 142-1441: In the given sentences identify the 
part of speech of the underlined word. 
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142. The box was empty . 

(1) Noun (2) Verb 

143. My coat is quite warm. 
(1) Adjective 

(3) Adjective (4) Adverb 

(2) Determiner 

(3) Noun (4) None of the Above 

144. This book is mine. 

(1) Adjective (2) Verb (3) Determiner (4) Pronoun 

Directions (Q. Nos. 145·147): Choose the most appropriate preposi­
tion to fill in the blank. 

145. They are going to Jaipur ....... air. 

(1) With (2) By (3) Bye (4) In 

146. We will discuss the problem .......... breakfast. 

(1) On (2) In (3) At (4) By 

147. He has gone back. .......... his word. 

(1) .From (2) By (3) On (4) With 

Directions (Q. Nos. 148·150): From the given options choose the 
word which can be substituted for the given group of words. 

148.A person who cannot read or write. 
(1) Illegible (2) Legible (3) Literate (4) Illiterate 

149.A government by the nobles. 

(1) Monarchy (2) Democracy (3) Aristocracy (4) Autocracy 

150.A period of the years. 

(1) Fortnight (2) Decade (3) Century (4) Annual 
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-.fie: 'If<:: 3lJq'l!J1lS-II ii WI 3#t;;fi '11'11 oil", it l.'I'4f->rn m if; ~"'f@ ~~, 
<it ~ = if; ~ '11'11 oil", it l.'I'4f"fa ,,>it 20 m if; ~ ~I R"'Ifclf€la 
m if; 'ifIt ~ifif<"4ifi ~ WI Tri\ %'1 ~ ~ C!T#r f'lifi01 ~ : 

151. 'ifif'l41" "" q;fcr' fl!;"l.'I ~ q;fcr qir q;m "IffiT ~? 

(1) '11'"'!fl (2) ~ (3) ~ (4) ~ 

152.3ia{fel~ ~ m~f'li;lI<'1~, 'll{ij ii, onm ft>rn ~ ? 

(1) ~ ~ (2) ~ (3) q;;;f (4) WR 

153. '<r[tl wm:' "ITIlifi" <'I"q aq"lll.'l if; ~ q;)-;;~? 

(1) ~ (2) ~~lql<'1 

(3) f.ro<'1T (4) "I ~~i ifi { >mf« 

154. '3lRRT "Rilm' fl!;"l.'I ~ qir ;;ftq;ft 'R alT>nfur ~? 

(1) lJtl«ll..rrm (2) fCJilifil~'" 

(3) ~ (4) ~R",ii~ tg;;ff 

155. ''11'"'!!'1' "" a:ro<'it 'Ill'f 'f'!l ~? 
(1) .. %'1 PHl (2) '!f'lT 

(3) ~"f fi:!~ (4) ~I~I''H 

45 P.T.O. 



llP/246/20 

156. '~' '"' 'Th'\ "4~'<'11 'i!<IT t? 
(1) ~ (2) ~ (3) ~F~~I~ 

157. 'f,t;>:rr' it <!il'I m mo:rq ~ t? 
(1) ~ (2) 'lI (3) au (4) ~ 

158.'q{I"I~' it <!il'I m ~ ~ t ? 

(1) 'RT (2) 'R (3) ~ (4) 1:[ 

15l}. ''I!lU m~' <Mlq~ '"' 'Th'\ 31>1 'i!<IT t? 
(1) "\fA q,'j li'>lt«rr (2) ~. '<'11(11" m t 
(3) ;;It -;fflf W1<I1 en: ¥9 -;fflf 'l1T'fffl (4) om '"' fi;io;j 

160. 'a:IT>1l -if; awl' ~ '"' 'Th'\ 31>1 '<'1~f.l~ oFlf"lll> : 

( 1 ) if<m <lh (2) <'!2 '"' "!JT('f 

(3) !jf.I"(1"€1 fiT<:fi <lh (4) m ~ 

161. 'F"IMI '"" ~ IlRl m~' -<wf'[ %?! 1l:'fi" 'Th'\ 111«:: ~: 
(1) q~oft~ (2) ~f",~"I"l 

(3) ~ (4) ~f"'~lj'lfl! 

162. ';;It ~ "€I ~ q;{ ~ ""ITl!l m' - <wf'[ %?! 1l:'fi" 'Th'\ 111«:: ~: 
(1) -qftf~ (2) 3lqOh;;l),!,~ 

(3) Oh'J;F,,'!'S 

163. 'lJ«!' '"' 'Th'\ _ 111«:: ~: 
(1) ?lB! (2)"Rfur (3) ~ (4) lJ«!: 
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164. 'w q;y -mT (ffi!"q 'I'IT i? 
(1) <it:lT 

(3) ~: 

165:"""101' q;y -mT fert;i'rq iI~f.m i'f>lf"lil; : 

(2) ~ 
(4) ~ 

(1) 0I:i1f'llR<! ('2) ai1~Rl~l'l 
(3) . 4h'''''Idl (4) ""I\>UI 

166. f¥! if ~ fllm 'IT'fI 'lit ffif1:r ~i'HI'Rl -m i? 
(1) e~o (2) IR\ 
(3) i.6fih$1 (4) ~ 

167. ',(f<;>i\a('I' 11I'G fllm wi q;y 11I'G i? 
(1) arn.rr 
(3) ~ 

(2) 3<i'u<?il 
(4) ~ 

llP/246/20 

168. 'q;tR1 ~ '"' if mftij' - 1jfu; if ~ <); 3lmfhh <nR m 3l<1ihl( i? 
(1) ~ (2) ~an 
(3) ~ (4) ~ 

169. \§~i0I""' if <nR ~ <=if"! ~ i? 
(1) 7.)1Jj 

(3) <$;R <=if"! 

170. '~' if <nR m"Wlm i? 
( 1 ) "I!1:oil fll 
(3) ih<!>1I('1 
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(2) ;;f.l;: 
(4) f<R:rf <=if"! 

(2) d<':P''l 

(4) &"!! 

10,000 



('1'1 slkl>i>' Ii; w:; memrr 9"" IT( 1ff!IT an(-11lf Ii; i(R1' '{'iii IT( 

iI;1m ;fWft -16IWI iT11'f -~ Q:r -« (I ft;ni) 

1. l!r.r :{R<1"" ~ ii; 10 fiRe ii; 3R! m ~ <'I f<f; ~ ~;m if wft 'r" ~ ~ aft,: ~ 
l!r.r WI ~ ~, :If"''''' ~ 'Ir<t;;rr;'t '« ~ '!:'f'!T m<fiT\1 ",,"-~ <it ~ W'!:'f 
m'l'! qij ~ ~r",,,,, lIT'<! "" <'II 

2, m '1'FI if 1Ft"""H $ wm-11lf Ii; 31fi1fiqa, fu<sn <iT = ~ 1jT 1WIT q;m:;; 'IT'! 

if"~1 
3, an(-11lf 3I!'f7T -« ~ TflTT tl "(f1" fit '"J' 31'1<" (I ~ #1 'i!ffi an(-11lf 'IiI'~ orrimrl 

iI;1m an(-11lf 1ST (I 'If'Ii .. ,, ff1;,n orrimrl 

4. WRr "'1"'Bi", ~ at!':-'1'I 'lillIi'liq; 1l'I'! "'3ITa'I'FTIllUI-'r" '« iR it f.Nfft! ~ '« ~I 
5. an(-11lf Ii; w:; 9"" IT( Q:r -« 3f1RT 'ff:jl64i .. "'!Jfflrl 'f'!1T'f IT( ft;ni' "." ;(tit fi(it 'flit' oft 

."" /Iff ~i .,.r-.,.r 31",.'4.. it If1f 11f'7 - Slkl>i>' 1ST 15lIf>f; "." ik: 1ST ;par( .ti;rrr 'PIIT'ff 
IT(WI 

6. 3I'to '1'1'0 3IT70 I1lf IT( 31jih#i .. ~ JIlI"8m. .. , !iwTT '" ik: !iwTT (~ oft( it) 1ff!IT 

.,"Sm. .. , IT( 'ff:jlh#i.. 31'1< 3I't 0 '1'1'0 3IT7 0 I1lf !iwTT "" .fiJfl!"'( >T' a.(leiI .. " "" 3I:J'(fir 

""'1 7 _ ~ "'1IfEI""~,"'i41itr:f oft( riI qfield' • .,;t;T f.rfi:;rq; mr •• i/i>/rl it'IT;;ntpt Jr.lTI!/T 'Ti! I!'"' ~ 
mq;r 1ST Roi/7r '"'" orrimr I 

8. 11f'7-SIkl>i>, :f rrriJq; 11f'7 Ii; 'ii/IT 8 .. fiiq .. an( fi(it 'Til ti rrriJq; 11f'7 Ii; 8 .. fiiq .. an( Ii; ~ 

3fIF1iIft an(-11lf "" "",f.ita rifiiiIr Ii; moil fi(it 'Til 'l'f oft an(-11lf Ii; llfl'1 ~ IT( fi(it 'Til 
f.rivff Ii; 31;fRTf .r.r -« ."" '""" t I 

9. ~ l!r.r ii; at!': ii; full: ~ "-'" m 'Pf <it '1T'P ,gl "-'" it 3lf>Jqi <pii <it '1T'P q;f.t 

'« 3l'I'if "-'" 'Pf <it 3l1:'f ~ '« ~ at!': 1Tffij 'lRT orrirrrr I 
10. !>W1 ~ fin I!'"' lff( !<1itI {m' 3ffinrr an( am'" 'iii' OfT !'f<hrl1 t I ~ 3J11:r fil;;fI '"" 1ST an( 

"" ~ wrr<f t; fit 'fi>ifitrr rifiiiIr Ii; moil fi(it 'TiI ... ri1 '{fit' oft mffl ~ ~I '# mIT( 'fF' 
3fq; fi(it ."tfit I 

11. "" q;r:f ii; full: l!r.r-~f«1"" ii; T9'1<l ii; ~ 'ITffi 'r" (!'IT at!':-~f«1"" ii; affl!;r'r" 
'iii m,gl 

12. m ii; <l'RR! it<m 3I't '1'1' 3m' an(-11lf m '1'FI if = "" i(1 

13. m WlT'<! m;t it ~ m '1'FI it 'IW{ ;;rr;'t qij ~ ~ ~I 
14. <If<; ~ ~ m if ~ BN'if 'iii m <!>l:1!T t, <it ~ f<j ~"f<jQI (1~ mr f.Nfft! 

,;s 'IiI1'lil, '1Pii m-r1Wft1 
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